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-1 Mindlin
SS-CC,b/h=1000a/b=10,k-1=5
_ 2 — My 50th 100th 500th 1000th ~ 1500th  2000th
xk=r’/12,v =0.3 (75 (115  (2410) (2328 (3626)  (516)
-1 2 51 768668 147949 679823 141256 231957 342644
71 768668 147949 678735 133061 200626 2734.22
SS-CC 85 768668 147949 678734 133061 198635 2634.36
89 768668 147949 678734 133052 198271 262953
L 2 2y [ 91 768668 147949 678734 133052 198112 2626.10
n = (COb /ﬂ) ph /D My 101 768668 147949 678734 133051 197899 2624.95
201 76 147949 678734 133051 197898 262484
b/h=1000, My 51 201 (mnO) 68668X 949 678.734 13305 97898 26248
k-1=5 -2 Mindlin SS-CC,a/b=10M =201k-1=5
mode b/h=10000 b/h=1000 Exact values b/h=10000 b/h=1000
number m n SRM SRM Levy DSCM SRM(%)  SRM(%) DSCM(%)
T 1 1 293331 293331 293330 293330 0.00 0.00 0.00
10 3 3 202450 20.2441 202450  20.2451 0.00 0.00 0.00
-2 50 7 5 768785  76.8668 768786  76.8798 0.00 -002 000
100 11 5 147.991  147.949 147991  147.993 0.00 -003 000
300 17 11 415678 415354 415682 415709 0.00 -008 001
S 500 24 10 679584  678.734 679593  679.631 0.00 -013 001
700 29 10 944008 942377 944025  944.076 0.00 -017 001
1000 23 28 133383 133051 133387 133431 0.00 -025 003
1500 36 26 198623  1978.98 198631 198691 0.00 -037 003
Levy 2000 51 6 263751 262495 263764  2637.72 0.00 -048 000
2500 29 49 328293  3263.10 328309 328566 0.00 -061 008
SRM 3000 62 9 392589 389817 392618  3930.66 -001 -071 011
3500 61 29 457310 453347 457210  4585.86 0.02 -084 030
Zhao DSC ¥ 4000 72 6 521995 5170.98 522045 524500 -001 -095 047
4500 55 53 586824  5804.74 5867.87  5925.60 001 -108 098
5000 31 74 651210  6426.89 650422  6633.36 0.12 -119 199
SRM = spline- Ritz ,DSCM =discrete singular cobvolutin Lewy=Lewy ?
k-1=5, My=201
-3 Mindlin n* (m,n)
b/h 1000 10000 b/h SS-CC,alb=1k-1=5
5 m  nb/h=10000 m n b/h=100 m n b/h=10
1 1 1 29333 1 1 29306 1 1 26997
b/h=10000 10 3 3 20245 3 3 20153 3 3 14992
100 11 5 14799 11 5 14404 1 12 62408
0.1 500 24 10 67958 24 10 609.36 13 21 11444
1000 23 28 13338 31 19 1099.2 5 58 15500
DSC 1500 36 26 1986.2 38 23 15303 30 12 186.89
2000 51 6 26375 29 42 19134 25 45 21391
3 Mindlin 2500 29 49 32829 48 31 22671 35 22 237.82
3000 62 9 39259 6 62 25874 41 17 25940
b/h 3500 61 29 45731 44 51 28909 41 31 279.16
4000 72 6 52200 66 29 31792 44 32 297.95
m,n 2 4500 55 53 58682 74 19 34468 51 17 31539
5000 31 74 65121 68 43 37028 38 73 331.88
n* b/h 7000.0
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